



1957 MAIN ST
BRIDGEPORT CT 06604
Office: [REDACTED]
Fax: [REDACTED]

Invoice No. 3251

INVOICE

Customer

Name **NICHOLAS D. NEWMAN**
Address [REDACTED]
City [REDACTED] State **CT** ZIP _____
Phone _____

Date **09-Jun-12**
Order No. _____
Rep **RT**
FOB _____

Qty	Description	Unit Price	TOTAL
1	DELIVERY MATERIALS PAID	\$10,000.00	\$10,000.00
1	DUE COMPLETION OF INSTALLATION	\$4,000.00	\$4,000.00
1	ADDITIONAL 4" SWO 550 SQFT @ 2.49	\$1,369.50	\$1,369.50
1	ADDITIONAL MUD ROOM 80 SQFT @ \$ 4.00	\$320.00	\$320.00

SubTotal	\$15,689.50
Shipping & Handling	\$0.00
Taxes State	
TOTAL	\$15,689.50

Payment Details

- Cash
- Check
- Credit Card
- Other

Name _____
CC # _____
Expires _____

PAID \$ 10,000.00

BAL DUE \$ 5,689.50

*PAID
6/11/12
w/ CHECK # 1193*



1957 Main ST Bridgeport, CT 06604
Phone: (203) 324-4430 Fax:(203) 324-4431
5/17/2012

Att: Nicholas D. Newman
Sound View Real Estate Partners



Phone
Fax



Labor & materials included as stated:

Hardwood floors to be supplied, installed(nailed over existing sub-floor)
Sanded, stained & finished with three coats oil-base polyurethane

4" x 3/4" (R.L. 1'-7') select & better white oak plank flooring to be installed in:

1st floor-all areas downstairs excluding mud room

2nd floor- all areas upstairs excluding bathrooms & laundry room

3957 sq.ft. x \$ 4.00 per sq.ft.....\$ 15,828.00

Sanding, staining & finishing three set's of stairs.....\$ 750.00

Supply & install flush mount wood floor vents white oak

Hot air flush mount wood floor vent 1 - 4"x10" @ \$ 45.00.....\$ 45.00

Hot air flush mount wood floor vent 9 - 4"x12" @ \$ 45.00.....\$ 405.00

Cold air RETURN flush mount wood floor vent 2 - 10"x14" @ \$ 145.00.....\$ 290.00

TOTAL\$ 17,318.00

\$10,000 DEPOSIT ENCLOSED





1957 Main ST Bridgeport, CT 06604
 Phone: (203) 324-4430 Fax:(203) 324-4431
 4/13/2012

Att: Nicholas D. Newman
 Sound View Real Estate Parteners



Phone 2 [Redacted]
 Fax 2 [Redacted]

Labor & materials included as stated:
 Hardwood floors to be supplied, installed(nailed over existing sub-floor)
 Sanded, stained & finished with three coats oil-base polyurethane

4" x 3/4" (R.L. 1'-7') select & better white oak plank flooring to be installed in:

1st floor-all areas downstairs excluding mud room

2nd floor- all areas upstairs excluding bathrooms & laundry room

3296 sq.ft. x \$ 4.69 per sq.ft.....~~\$ 15,458.00~~ **\$ 13,184**

Sanding, staining & finishing three set's of stairs.....\$ 750.00

Supply & install flush mount wood floor vents white oak

Hot air flush mount wood floor vent 1 - 4"x10" @ \$ 45.00.....\$ 45.00

Hot air flush mount wood floor vent 9 - 4"x12" @ \$ 45.00.....\$ 405.00

Cold air RETURN flush mount wood floor vent 2 - 10"x14" @ \$ 145.00.....\$ 290.00

TOTAL\$ 16,948.00

OR

6" x 3/4" (R.L. 1'-7') select & better white oak plank flooring to be installed in:

1st floor-all areas downstairs excluding mud room

2nd floor- all areas upstairs excluding bathrooms & laundry room

3296 sq.ft. x \$ 6.25 per sq.ft.....\$ 20,600.00

Sanding, staining & finishing three set's of stairs.....\$ 750.00

Supply & install flush mount wood floor vents white oak

Hot air flush mount wood floor vent 1 - 4"x10" @ \$ 45.00.....\$ 45.00

Hot air flush mount wood floor vent 9 - 4"x12" @ \$ 45.00.....\$ 405.00

Cold air RETURN flush mount wood floor vent 2 - 10"x14" @ \$ 145.00.....\$ 290.00

TOTAL\$ 22,090.00

OPTION: 3RD FLOOR

4" x 3/4" (R.L. 1'-7') # 2 COM white oak plank flooring to be installed in:
3rd floor- all areas excluding mechanical room
661 sq.ft. x \$ 4.25 per sq.ft.....\$ 2,618.00

OR

4" x 3/4" (R.L. 1'-7') # 1 COM white oak plank flooring to be installed in:
3rd floor- all areas excluding mechanical room
661 sq.ft. x \$ 4.44 per sq.ft.....\$ 2,735.00

\$ 2,644

*\$17,318
TOTAL*

OPTION: 1ST & 2ND floor

4" x 3/4" (R.L. 1'-7') # 1 COM white oak plank flooring to be installed in:
1st floor-all areas downstairs excluding mud room
2nd floor- all areas upstairs excluding bathrooms & laundry room
3296 sq.ft. x \$ 4.44 per sq.ft.....\$ 14,634.00

5" x 3/4" (R.L. 1'-7') select & better white oak plank flooring to be installed in:
1st floor-all areas downstairs excluding mud room
2nd floor- all areas upstairs excluding bathrooms & laundry room
3296 sq.ft. x \$ 5.04 per sq.ft.....\$ 16,611.00

Note: Any other extras will be priced accordingly

